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The figures in the margin indicate-
Jull marks for the questions.

~ Answer either in English or in Assamese.

1. Answer the following questions 1x8=8 .

Tl emTRe Sey f

(@) What is supply ?
@ene fee i

(b) Mention one cause of shift in demand
curve. -
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Choose the correct answer -

'GST is ajan __ (direct/indirect)
| wm Seol A Sfnedt 3 :
GST (= 9 (o7 #AQF) T4

@)

.(e)_ 4

{9)

- Income/National Income).

Mention one canon of taxation as given’

by Adam Smlth .
wﬁmmwaﬁmmhﬂﬁx@

Fill in the blank
NDP at factor cost is

AT B R i g ;
ol e NDP.T=t% _ (a1 o/,
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What is ex-ante savmgs ?

‘ex-ante’ ALY Fe

Write True or False :

When demand is perfectly inelastic,
elast1c1ty of demand (eq) is zero..

ag mww%ran
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(Domestic

(h) What is the main cause of
unemployment according to Keynes?

(P WS =Rl PR & IR (2

2. Answer any six of the following questions :

2x6=12
v ﬁz:ﬁmw?f o Te] fordl ¢

(a) What is opportunity cost? Give a:
suitable example.

“ At I B2 ﬁﬁ@'mwctﬁml

(b) Write two key characteristics of

- monopoly that 'distinguishes‘it from -
perfect compet1t10n

GO ISR 75 G T Wi @tm =l

| ﬁmﬁﬁaﬁmﬁﬁwwwmqw
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(c) Define ‘primary déﬁcit’.
e aifbe e

(d) Why is production possibility curve |
(PPC) concave to the origin? Explain.

Teotine TRRWITS! (93 (PPC) ﬁm aRT ot
WWWl -
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" (g)

()

(i)

~Point’ out two dlfferences between

capltal accounts and current accounts
of balance of payments.

'WW%@&WWB@E&N«

AT 7B <A W |

Define producers’ surplus.
Beot MR At Frar|

Suppose GDP is Rs. 5 ,000. Domestic

. residents receive factor payments from

abroad of Rs. 250, Foreigners receive

Rs. 100 as factor Payment from this
country. What is the value of GNP?

A1 A Rs. 5,000 t0% GDP | a1 S

ﬁm"ﬁtRs 250 SR R e Reeti

4 (7T 791 Rs. 100 W@ﬁmn GNP 3 0

& 299

Define multiplier.,
I TR ﬁ’fil

Mention any two reasons behind shift
in -aggregate demand (AD) curve.

mf@azsﬂimmmmmmwﬁm
mcn‘e‘matwy _ o FIFf
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() ~ Define purchasing power panty (PPP)
with example.

SnizeR & ¥ ATl (PPP) I el |

3. Answer any four of the following questions :

5x4=20
wﬁmmﬁ@mwﬁﬁa Tes forat 8

(a) Dlstmgulsh between National Income
and Domestic Income.

a@amwwwm@ﬁw

(b) State and explain the central problems
of an economy. ’ :

"quﬁﬁ@@ﬂﬂwmww
O |

(¢) Explain 'the charactenstlcs of perfect
competition.

qﬁmﬁwmeW|

(d) Explain direct taxes and indirect taxes’
- and mention two merits and two
demerits of both the taxes.
‘ mmwmwwwzﬁw AR
Ll opiRal S U |
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(e)

(9)

(h)

How is market demand curve derived
if two individuals have different demand
curves for the same product ?

QR B AR 2 T ol e

foagaer viftnl @4 92 29, (ors TEk
sifemt @t Jowm sifde =9 3o 51|

Explain average propensity to consume
(APC) and marginal propensity to
consume (MPC) with the help of a
suitable diagram.

SIG (S5l 2[erel (APC) i @lifes (Sie eigeret
(MPC) =il 951 T2iTe foas s72iers iyl <5< |

Distinguish between Elasticity of
Taxation and Buoyancy of Taxation.

79 [BfozeTel OIiF 349 2ifdel 2Ny
el |

Derive the formula of income elasticity
of demand. If income elasticity of
demand is negative, what does it
signify ?

sifznta o FZfoziveor sga Fdaed w1 aff
RIEGEAIRREISE o) ﬁmw F T, (90 3
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Answer any two of the following questions :

10x2=20

were Al iz g e ed il 8

(a) State and illustrate the law of demand

(b)

(c)

using demand schedule and demand
curve. What are the exceptions of the
law of demand ? ' 6+4=10

ifewt R Bl | vifzwl bt e bifawl @9
ST Sifenl &fE i w4 | vienl [Kfds ez
IEEE:

Describe Keynes’ General Theory of
Employment and Income with the help
of a diagram.

ﬁwmﬁmﬁwwmﬁa
_cf»‘mﬁﬁﬁﬁﬁml

Narrate the steps involved in estimation
of national income by Expenditure
Method of national income accounting.
What are the precautions to be
undertaken in this method ? 6+4=10
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(d) State the two conditions of equilibrium
of any firm. Explain how equilibrium
- price and output are determined in a
competitive market. What explains the

' efﬁciency of market equilibrium ?
2+7+1=10

ﬁmanﬂtaﬁﬁhwa@mwmma AR TS 76
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(e) Illustrate Progressive, Regressive and
Proportional Taxation with diagrams. .

4+3+3=10
ﬁaaizmmﬁﬁm E“EPFWJWW$!F§ﬁF?5¢ﬁ
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